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Pl 1/Part I
|/General Awareness
e R , (UDISE+) % T 3 frferfiad B 8 aﬁq.m/ﬁ o T
& 3 eI
| ) fore AT, MG FEH Z gF Y T '

L qB(L_IDISE+)EhT«If§[m3ﬁIWm (N
it et Ha e £ o
IL 3 ﬁmq&?ﬂﬁ@%' .«
Wﬁmmw%ﬁgom»w;ﬁﬂqﬁm@s“ St v T o s Tt

’

Ffafas o § TE I 1 T B :
(1) e 11 ok 11w § (2) ¥ 1o IIFE &
@) s 19 3 @) ¥Fe 13 IITE B
e correct about Unified District Information System for

\If:Vhich of the following statements is/ar
ducation+ (UDISE+) ?

I.  UDISE+ is one of the largest Managem
School Education and Literacy, Ministry of.ﬁducation,
II. The entire system is online and has been cbffecting data in rea

I11. UD-ISE+ information is utilized for planning, optimizing resource allocation an
various education related programs and asi8ssing the progress.

ent Information Systems initiated by the Department of

Government of India.
1-time since 2014 — 15.
d implementing

Select the correct answer from the following : |}

(1) Only II and III are correct Q:Z) Only I and III are correct

(3) OnlyIis correct ‘ (4) OnlyIand IT are correct

- y Wy | . ot (et L
(PRABANDH)%{gaHﬁHﬁHW)%TEm - i ( = %g%m T
(1) T I e e (3 Y T )

(2) I foran fevmn, e wATe, WG WEER

(3) Tuu faem

(4) fau g™, YRA SR M
Project Appraisal, Budgeting, Achievements %ﬂ
‘ ‘ ; ) Data Handli
- ing System (PRABANDH) is under

(1) Rashtriya Uchchatar Shiksha Abhiyan (RGSA)
(2) Department of Higher Education, Ministry of Education, Gol

(3) Samagra Shiksha A Th
(4) Ministry of Finance, Gol H
e & & F.dt T ouTg B 2
(1) R (2) hfcam (3) A
@ gt

Which of the following is a non-metal ?
(1) Sulphur (2) Calcium . (3) Magnesium 4)  Alumini
minium
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4, Pt o w0 fram i ; O g i 8 T ALY

L T % HRE 3 SR, Se T B e gﬁﬂﬁﬁmﬁmﬁnﬁgl
I YRd * SRum % mEn, mmﬁuwhlgﬁgﬂ

frefafiaa § & adt s w1 w7 Hifw H

(1) 1997 I3 98 & |

(2) 17ed g, Frg I ad € »

3) TAITEREIRADI |

4) 1913, fhg e # |

) |
o each of the States in the Rajya

Consider the following statements : {) ' signed t
L As per the Constitution of India, the numb of seats a5
Sabha is the same.
a Sabha to both, Stat
II. As per the Constitution of India, seats arefaﬂocatEd in the Rajy es and the
Union Territories. LN

[
-

Select the correct answer from the following : :; -
(1) BothI and II are correct.
(2) Iis wrong, but II is correct.

‘ (3) Neither I nor II is correct.

(4) Iis correct, but II is wrong.

5. 9Rd #, mﬁmﬁmmmmﬂ@ﬂ%ﬁmm% IWm

NbA

Wwwﬁﬁﬁww%? O
() R w g =
(2) orficha =nfie ot m ™
(3) s |ishaal fﬂ
(4) =TI qHiam _ e

In India, the judiciary has the power to strike down laws
following concepts explains this power ‘?

(1) Doctrine of ‘exception’
(2) Appellate Judicial System
(3) Judicial Activism

v(4) Judicial Review

6. ﬁm%f@aﬁﬁ%éwﬁmazozsmmﬁmmmgw
(1) gomwm fag aea B Ry &’”‘Rnano
(3) t@am (4) T

B,

- Who among the followmg was posthumously awardeq the P,
adp

(1) Mulayam Singh Yadav @ B aViy
oo hush 37
(3) Rahul Bajaj @ g :1 Ray, wag an Award for 202

Passed by the Parliament. Which of the

a]
asubrahmanya -
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/@ WWW@W%W"“{; 00D —
fire wTea whaE § 2015 - 16 % IO
(1) maﬁﬁwm%waﬂa@
(@ utaad & ww oy ¥ SRR T ,
® maﬁﬁmm%aﬁmaﬂaﬁﬁmﬁ
@ et @ o e A TI R

- According to the N ational Family Health Survey which of the fol]qwing healt;};1 inlc;icators. has showp
an increase, in the survey results of 2019 21, compared to 2015 — 16, as per the Economic Survey of
India 2022 - 23 ?
(1) Children under 5 years who are \underweight
(2) . Children under 5 years who are stunted

(3) Children under 5 years who are overwei

s
.
.
al
2

(4) Under-five mortality rate : N

. : : '@

8.  STarl WieT § gt S5° (Harbour Waves) 1 {58 4 ¥ ST ST 8 2
Lo .
(1), o (30F) —i(2) g
3 JHE qFH (TREA) @)
‘Harbour waves’ are known as ,in J' apanesé‘langﬁage.
(1) Hurricane (2) - Tsunami
(3) Typhoon (4) Cyclone
@ 25 7 & 3 5, 2028 % mmwwmﬁmaaﬁ:mw

Taifires g § @l uges Sfid 2 | m
1) S ghafdd, Fien %gz) & TH® <d {E!aﬁi-a, AR
(3) daet gfafed, gt Mm@ T IEaEfid, Sdhe

, o 7 : LN
Among the following Universities, which Uniyersity won the highest number of gold medals in the
Khelo India University Games, held between Nlay 25 to June 3, 2023 ?

(1) Jain University, Karnataka (2)  Guru Nanak De\; University, Amritsar

(3) Punjabi University, Patiala (4) Panjal; University, Chandigarh
sraargqﬁaﬁqﬁmmm (CCPI) 2023 1 fr=rfafad § & w3 Gzoéwwuaﬁamwfé"

27

Q) o it { ' 2

(3) W (4) HATST

Among the following G20 countries, which i

i ek ich is the hlghest performer in Climate Change Performance
(1) South Korea : (2) Russia

(3) India , (4) Canada
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HWA-2093/0s
(5)

WO 11/ Part IIAbuity iR feem |
LED &W/Reasoniﬂg el %
@mwmﬁwﬂwﬁ7 Pl 1 T 2 1 2

e R UG LLL it o i '

o e femd g o % 2f&-
Wﬁ.@ %93 5% ot

@) 4 Fef eforafem 3 then turns towards East apg driveg

‘ : cé 3 : . R
A man drives 10 km in South direction from~his off . How far and in which direction is he
4 km. From there, he turns towards North and:Hrives
from his office ? SOuth'WeSt

(1) 5 km South-East (2) 6 gouth-East

(3) 4 km South-West (@B 8 S T W8 oy T
fé Tu st #_129 3 wrgfeal § o foremeff s €, 14% T | e, S _ e
%‘%ﬁw'w@@ﬁﬁm : .

, .

A\
%W

(1) 172,74,70 (2) 80,78,76 (3) 64,74,80 (4) 64,66,62

In the given figure, 12% are those girls who are students too, 14% are students who are dancers too
and 16% girls are those who are dancers too. 8% are the girls who are both students and dancers.
What percentage are only girls, only students and only dancers ?

P

#15332963

Students
™M
8% | g
Dancers Girls (]
M
™M
(1) 72,74,70 (2) 80,178,176 %Qg : ;
y I » 15, AL 64, 74’ 80

mm%mm/spm
A WORK
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13.

14.

_quﬂﬂ?'—w’ 774, Feorhll, oiem oi e e 2, freg o)
. amm%ﬁlqﬁﬂml‘B’aﬁT‘E’aﬁﬁmaﬁﬁmﬁwsﬁm
THE TE R 1O T W R ? M

5, o o @ D 3) .ﬁl?fné N (4) ey |

Five friends A, B, C, D and E haV® din%ﬁ hObbtlﬁS i SuE, Gancing, g a,i"tin.g’,wmi“g and
Se“teingir:ltsmt, in’the, o maorde] (A’ and ({7 11ke neither singing nor dancing. ‘B’ and ‘E’ do not have

: v th : .Writilfg)an.d se\'ving are not the hobbies of ‘A’. ‘D’ and ‘E’ are not
the hobbies of painting and Sez‘“?D, doesbfdt like singing. What is the hobby of ‘C’ ?
interested in dancing and sewing. i

(1) Dancing (2) Writing - e (3)  Sewing (4) Painting

. : Fa HAA H WA W ], Rk we o e fau
Prefafad wer #, fuftm o & o @ P : R 1911 fou o
= lm%mg,ﬁmmﬁﬁqm/ﬁﬁmﬁ& I f T B/ |

HYT :

urg fisi A, B, C, D g

1. M<O=N<E>Y ~

2. S>A>2C=D=2N _—

5 - '

I. 0<D

I. A>M

(1) Frerd 19 ndai g d

(3) &4 fiewd 1 a1 ferd 11 9 @

In the following question, a relatiorishjp
followed by two conclusions I and II. As
conclusion(s) is/are definitely true.

Statements :
1. M<O=N<E>Y
2. S>A=C=D=N

(2) %ﬁaﬁmﬁénw%
(4) <hae Trsd 1 Oew

ween different elements is shown in the statements,
q_lf._‘ming the statements to be true, decide which of the

E53325963

¥
n

i

Conclusions :

I. O0<D

I. A>M _

(1) B?th concluSiG.Ils I'and II aye true 13 (2) Only conclusion II is true
(3) Either conclusion I or conclusion Jf j5 & . (4 Onily conclusiort] 1k frie

\-(-LL .
mm%ﬁmm gf}SPACE FOR ROUGH WORK
L)

¥
1
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(7) ,AK@'W ‘F’ ‘M’ﬁ
15 A 0 ‘M’Eﬁsﬁ%'N“‘o'wmé%‘K, .N,mﬁmﬁaﬂiF 5 g
bk b @) T
(1) & 63} e o
/ ( ) m (3) A \ ot A ;F’ iS ‘K’S mother; then hOW i -
If ‘0" is ‘M’s daughter; ‘N’ is ‘O's brother: ‘K’ is 'N’s fathef' : SF
related to ‘M’ ? i e o arn
o P 0
(1) Mother-in-law (2)  Sister gy Sister- .in-law er

16. ﬁgmﬁmw%ﬁﬂ%wammmﬁnWﬁmgﬁaﬁqm%'%%

%aﬁqm/ﬁwwmwaﬁ%—gm%@m

a 1 ol /A F 12 2 el

BT A

I 2a+2b=4-2(a—b)

II. a+3b=2a-2

(1) ST U 130 11 $o% ST 1 I 23 3 foqu arraes @ |

(2) mgrlmgﬁmmmaﬁ;mm% mﬁmlmmwméﬁ%fmm
T2 |

3) m?ﬁWImmwnaéﬁmwaﬁtéﬁ%%ﬂW% '

(4) Wlmﬁmwmiﬁ%%qw%% s e 11 3Rl 9 o1 IR o % e vt
T %4

Given below is a question followed by two g%tements numbered I and II, each containing some
information. Decide which of the statement(s}i¥/are sufficient to answer the question.

What is the value of a ? ‘;2
Statements : ,
I. 2a+2b=4-2(a=bh) A

II. a+3b=2a-2

(1) Both statements I and II togethef are necessary to answer the question

(2) Statement II alone is sufficient to answer the questlon while statement I alone is not sufficient
to answer the question.

(3)  Either statement I alone or statement II alone is SUfﬁCIent o' Answer the question.

(4) Statement I alone is sufficient to answer@e question, while statement II alone is not sufficient

to answer the question. (jr,
' ' X
I &l & feg g / ﬁgAce FOR ROUGH woRk
LN A
—

4
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m 'Gﬂqaﬁlﬁ 3 P EYE
17, ‘ﬁ%wmﬁmw%mmﬂﬁm”ﬂ”l’ K33 Hiéa,ﬁmgi%m%
18.

R nE yr gee—————c LRI

A, B3Il C Y oy F1 e Aot 654 ¢ | B ) 3T TR ?

FYT

. BAR 1598 BRI2 |

L B

(D SR o 1ol 11 53 T 1 IW A S TR E

(2) T I STt & S I A 6 T e R, T FH T TR I IR ¥ o o,
TR ‘ :

(3) AT FHUT I bl AT oA 11 3T H¥A %l IR 4 & fore qarfea & |

(4) mxaﬁ»ﬁzﬁmwwiﬁ%fmm%,mﬁsmnaﬁmmwaﬁ%mm
TE 2 "

Given below is a question followed by two stat@uen.ts numbered I and II, each containing some
information. Decide which of the stater_neqt(s) is/qré sufficient to answer the question.

The sum of ages of A, B and C is 65 years. What ig%’s age ?

1533296

Statements : LTE
I. Bis 15 years younger than A, ‘ﬁ‘

II. Cis 40 years old.

(1) Both statements I and II together are necessary to answer the question.

(2) Statement II alone is sufficient t, answer the question, while statement I alone is not sufficie!
to answer the questjon. :

ither state t y
(8) . Either statement Lalone or Statement IT alone is sufficient to answer the question.

(4) Statement I alone is sufficient M -
answer the Guesti . ; fficien
to answer the question, d o estion, while statement II alone is not su

™~
\
% |<;"Wme / SPACE FOR ROUGH WORK
LM

.
3+
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18. ﬁﬁﬂ’mmﬁ@mﬁqrwé mmwaﬁﬁﬁlamqlﬁnaﬁélqgm@
fr B 8 R T o e @ R, fok ﬁmﬂﬁﬁ"""ﬁ* =

EVE

Pl ””;"F‘qﬁwzﬁ’a%/‘% e
e

R | 39 = et o fje & e |

FIIaTE B TS : 1{:

I WﬁRTEaﬁﬁaanmmaﬁm
I Sfars w0 Y 9@ w= i € gon & s e |
(1) 13 112H S R e
(2) had 11 H S =i |

(3) FA IR T & I S = |

(4)_Had 1t I =13 | Yy

v i) .

In the questlon below is given a statement foil} wed by two cours
assumed that everything in the statement is{tzue. Then demde which of two given courses of action

logically follow(s) for pursuing. , {R

es of action, numbered I and II. It is

Statement :

¢ 1‘
Despite the RTE Act, many children are still (!eprived of education.

Courses of action :

1.  Government should ensure the enforcement of RTE Act. -

II. Parents of educationally deprived children should be punished,

(1) Both I and II follow for pursuing.

(2) Only II follows for pursuing.

: (4]

(3) Neither I nor II follows for pursuing.
yir, ‘

(4) Only I follows for pursuing. (J T
\

1w wrd & forg s /lSFACE FOR ROUGH WORK

H
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HWA.-2023/C5 afit 7 (R) % &9 F gutar m R |
.M(A)

19. I A wom R e § ofit 3T

YT (A) : g

i Wt wEr ST § |
et (admnaline)@_@f /;@%g_ﬂ-
TEm, q -
R) :
FETETESE( T (ATTHIASH) & 9graT & |
mmmmﬁ*m ™ (

1) (AT R, TR '
@ (Am(maﬁaﬁ,wm,@@wsam#% |

@) (AT R, W TR |
@ (3R R 2 T & @), (4) F T A T

Two statements are gi;ren below and they are la‘k%lled as Assertion (A) and Reason (R).

Assertion (A) : S il g
Adrenaline hormones are also called eme‘z‘gency‘.‘:&brmones. -
Reason (R) : FaNGEEE ()

: N

Adrenaline increases metabolism of carbohydrafes to provide instant energy.

Select the correct answer with tlie help of the' cod; given below :
(1) (A)is true, but (R) s false,

{2). ‘Both (A) and (R) aze true, but (R) is not the correct explanation of (A).
(3) (A)is false, but (R) is trye, - '

(4) Both (A) and (R) are ¢ e
and (R) are true and (R) j5 the correct explanation of (A).

Wiy O
T _
m*ﬁ'ﬂm / s@:& FOR ROUGH WORK
)

#15332
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TN ) _, i ,ma;m 'ﬁ@;&l-—d_
20. mmﬁ,ﬁﬁﬂa@:ﬂ:aﬁamm-%ﬁaﬁﬂm%_@m%/g? | 'Hﬂ"q’m

3 | Tl T W gn, fiveg B gy /A

1. F<I<B>R<E g %

2. L<O<F2A>T ™M

st ; gl

I. T<R He

II. L<B - ‘ . ‘
(1) e 19 112M geg @ ' 2 WWHW%
(3) @ ar frswd 1 fend 11w 2 (4) %ﬁﬂﬁﬁélm%

elements 1s shown in the statements

In the following question, a relationship between different
: s to be true, decide which of the

followed by two conclusions I and II. Assumiig the statement

conclusion(s) is/are definitely true. g
. Statements : o
. 1. F<I<Bz=R<E c 0N
2. L<O<Fz2A=T m
Conclusions : L
1. T<R H:
II. L<B . B
(1) Both conclusions I and II are true (2) Only conclusion II is true
(3) Either conclusion I or conclusion II is true " (4) ' Only conclusion I is true

21, TETE HO qA b M IEE o (Fer) ofion A oS @, S 3wk W E 5 Rl R
W@H@n@uaﬁaﬁtwﬁaﬂtgﬁﬁ%,ﬁ‘hwésmq@%smﬁ%aﬁagaﬁaréafr{
Tt & 3 1 Forslt T TR e @ o o gEf @ ot 11 Rt < gt o e or e o
2 | 3T FETed 36 W e @ A e Rl SR R 9 v | & B
(1) 4T efaorafam W 5fEh sRmaam

@) &R e My 4 g

Sonali drove her son tp his school towards S’oum? which is 5 km away from her house. From school,
she turned westward towards the market, which is 8 km away 'from school. After the market she
turned to her right and drove 1 km more and then.took.a right ¢y again and covered 11 km to
reach her office. How far and in which directign is her office from’iié;- ﬁguéé"? .

(1) 4 km South-West 3 (2)  5km South_west '

(3) 5 km South-East 4) | 4km South-East

\
e T % T SE / SPACE FOR Roygy WORK
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22,

23.

Sk ‘Gﬁﬂﬁwﬁ ﬁazﬁamﬁ?rﬁﬁwamﬁ amﬁm?ﬁn?ﬂal
39 @ 6 IgEH

),
My el
3)

: ionship between mothers
) : t represents the relations etw , Womep
Identify the diagram that bes .
post-graduates.

{ 5 S0 |
' : ! "2

o)

™
: : : (4)
& L BeCID
I U5 1 =9 i, Gﬁmﬁﬁ(?)ﬁﬁmﬁﬁﬁ@aﬂémﬁt@m@l

A47U, B45R, E410, ?, Q271, Z17F

(1) J38E (2) H35L (3) J35L" - (4) H38E

Select the terrh that replaces the questxon mark (?) and completes the given series.
A47U, B45R, E410, ? Q27I ZITRSE |

(1) J38E | (2) & H35L ¢ .m (8) J35L. ~ (4) H38E
24, mmwwaﬁﬁn ﬁmﬁamﬁﬁmﬁaﬁaﬁtﬂﬁ e F g @ |

5,18,39,68,7,150 «
@ 115 : () 105 : m 3) 120 @ 10
Select the number that replaces the que_stioq?émark (?) and completes the given series.
5, 18, 39, 68, 2, 150 R a4 | :
(1) 115 @ 105" . 3 120 . @ 101

\ LN

&

m%%‘lm / SPACE FOR ROUGH WORK

¥ |39 ¢otys0

_
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25 quP’Q’R’S,T,Uiv'aﬂwmfamﬁaﬁzﬂﬁﬁ@ﬁum%i;yw@R
N TR TSR | g, N 5 gl RN oy o A |E 8 fq
237 & 3R P, ‘Q 1 Fieeam v 3 |

FA: QI T Wyt 3 | N, P % TRf 3R el 3 qt

e
Tl

gt 3 T8 3 § )7 S BAMR 2
(1 S ) N o : Q _ F4) \%

Eight birds P, Q, R, S, T, U, Vand N are Sittilt?in R facing North. T’ is fo.urth to the left of P
‘S’ is fourth to the right of ‘N’. ‘R’ and ‘U’ are 1161;\1;itting at the ends, bl}lltb are n?l‘gljbours (.)f'c?’ and ‘7
respectively. ‘N’ is next to the left of ‘P’ and ‘Pg% the immediate neighbour of ‘Q’. Who ig sitting on

the extreme right ? L) '
(S 2 N $) Q 4 Vv
96, TR EEI N, M, Q 3R P qor =R = A, B,Caﬁnwmﬁﬁﬁ%mﬁm@'@%m%@

§ | 8 0 D T v ) e w78 43 8 | o, D SO F e, MF TR dg R oy o
SN F AT T A 2 | B, Q3 e s A & AN A SRR T TR | op e
B’ o9 BT FST§ 2 |
1 Q 2 M S P
Four doctors N, M, Q and P and four nurses A, B, C and D are sitting around a circular table facing
each other. No two nurses or two doctors are sitfing side by side. ‘P’, who is sitting between ‘D’ and
‘C’, is facing ‘M’. ‘A’ is sitting between ‘M’ and“®y’ and facing ‘C. B’ is sitting to the right of ‘Q’ and
third to the left of ‘N’. Who is sitting between ‘Ar%nd ‘B’ ? :

1) Q ' (2 M %) P A ‘ 4 N

o7, afz A+BE A2 fF B AR T T, ﬂ

A-BHEI a2 frA BRI UMY, ¥
AxBHI 34 2 FF‘A, B R TF ¥,
@ 7 srfreafs ¥ P, s A fhE e G B 2
PxQ+R-S
1) faan @ Wi (8) == T /i Wi @ o

o
\If A + B means that ‘B is the wife of A’,
A — B means that ‘A is the mother of B,
A x B means that ‘A is the son of B, O
then how is ‘P’ related to ‘S’ in the given expres%n 2
PxQ+R-8S o™ .
(1) Father (2) Brother %i Cotsis o B

Gl _ hma! —— TR L == e
Tq;aﬂ?ia; 'F(;'Tqm / SMCE FOR ROUGH WORK

4 N
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(14) ot
| g T BT TR B
HWA-2023/C5 ﬁﬁ&laﬂtnﬁqmélq’ﬁ' k) ”ﬁsrrm
28, mﬁaﬁwﬁnﬂﬁ,ﬁ"‘%‘;ﬂ:maﬁ?@r,%ﬁﬂhaﬁﬁﬁﬁﬁqﬂqﬁw;ﬁﬁﬁqﬁq_m/.
: {d
w7, W 9% {Ed %/Wél o
FYT Y difcher §9 ¥ freard - ' bc')‘
b i s R = A M
Ay g

I o dwem e e &
L Fo.37=0 safs seaw e |,
(1) Fred 1o 1A PreR e |
(2) ad fed [P el ‘
@) W e pw e nfeeme
4) Saw e [ Frerear R |

Two statements are given followed by two\tganclusions, numbered I and II. Assuming that the

information given in the statements is true, even if it seems at variance with commonly known facts
decide which of the given conclusions logicallppllow(s) from the statements.

Statements :

1. All teachers are good human beings.

#153

2. All teachers are honest people,
Conclusions : : . i

L. All honest people are teachers,

II. Some good human beings are macﬂers.
(1) Both conclusions I and [y follow,

(2) Only conclusion II followsg, -

(3) Either conclusion I gp conclusio;i II foll()@
(4) Only conclusion I followsg, -

Eo ()
L m%%q IR,
g /tsmmce FOR ROUGH WORK

v~

H:
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29.

HWA.2
(15) 023/C5

WW%WWW%Q@@W%lgqﬁmmmﬁqﬁﬁ—%ﬁn,ﬁa;m,
e, A, SCIEER 3R 37 § | %Wﬂmm%:

@ At = S S e 2, amﬁgmﬂﬁ“‘mm'

(ii) mﬂwsﬁtmﬁ@waqﬁ@mmél

(iii) \maﬁmﬁwmmmaﬁaﬁmzﬂﬁmaﬁq'

o, ST 1 ST R, A P s o 4 e 1 o T e

(1) 3 S |
(2) T I ATCIE
(3) @« IR M

(4) el AR IW

2963

A combination of three fruits needs to be choséf) The fruits must be chosen from seven fruits —
Banana, Apple, Custard Apple, Gooseberry, fﬁneapple Plum and Mango on the following

conditions : ' 4

(i) If Apple or Mango is chosen, the other one must also be chosen.
(ii) Custard Apple and Pineapple cannot be chosen together.
(iii) Either Custard Apple or Mango or both must be chosen.

If Pineapple is chosen, which of the following other two fruits must also be chosen ?

(1) Mango and Gooseberry

M,
(2) Apple and Plum O
o))
(3) Apple and Mango (r::)j
(4) Banana and Mango m

—

SR

7 @ o forg e / SPﬁE FOR ROUGH WORK
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7 GET IT ON
Google Play

(16) B2

30. :ﬂ%ammﬁqmgaﬁ;ﬁamm)ﬁ(ﬁ(m%wﬁmw% '
SUFHT (A) : \D
me_mwgmﬁm% |N

dF (R) :

Irse fore 1 g @ |

#1533

T R e F2 1 gEEd & E I 9 HifT

(1)
@)
3
(4)

(A) T B, T (R) T & |
&) 3R ®) A T §, 7H R), (A)fﬁ%ﬁm TR

(A)vma% g (R) 9 2 |
(4) 3R (R) T FE & 3 (R), (A)ﬁm@&n@n% |

Two statements are given below and they are %elled as Assertion (A) and Reason (R).

Assertion A): ' Tl

49}

’

Graphite is used in designing of carbon paper.:*:'

Reason (R) :

Graphite is a good conductor of electricity.

Select the correct answer with the help of the code given below :

(6))
(2)
3)
(4)

(A) is true, but (R) is false.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(A) is false, but (R) is true. ; $

Both (A) and (R) are true and (R) is correg‘pxplanation of (A).
o

% T & fore srg / {rﬁ}\cs FOR ROUGH WORK
o |
H:
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i ' - AT/ Part 1T

d“? Iﬁﬂ T T/ Kn of 17
owledg® d
, FrefafEd 5 & ol -an us SIh{4 39 FIFHR (wob bmwser)‘m __‘_____3ﬂ| SR
(1) Wmﬂ(lmunm IExplover), ‘ ai

(2) A SRTHT (Mozilla Firefox)

& msﬁw QW@'H (Mircrosoft Accoss) |
(4) TIA EAL (Google Chrome)s

Which of the following is not an example of a popular web prowser 4
(1) Internet Explorer

(2) Mozilla Firefox

(3) Microsoft Access

(4) Google Chrome

'

32 WMS ‘Windows) ﬁf‘%ﬁm’—[% mﬁ Ty ER-:? ﬁ@ﬁﬂﬁm
Wm‘ﬁ?’wﬁ%w{%ﬁ@ﬁ%ﬂﬁé@m@mwiﬁ wﬁmaﬁqm%o

S
w Ctrl+C3ﬁICtr1+V ’ @)’ Alt+C\”’?R*B‘1t"'V
@ Ctrl +V 3 Ctrl + C (@) Alt+VIARAL+C

The most popular combination of ‘shortcut keys’ :ﬁ) ‘copy’- some SeleCted text and ‘paste’ the same at
some other location in most of the MS Windows applications is :

(1) Ctrl+Cand Ctrl +V (2) Alt + C and Alt +V
3) Ctrl+VandCtrl+C ' (4) Alt+VandAlt+C

m.@ﬁ%mﬁloommﬁﬁ@qﬂmﬁﬁmﬁQmﬁaﬁaﬁa F fm w
ﬁamm%’ﬁ%ﬂ W@Wu@mﬁtmﬁwa T, FrratEa
AFeaR WWW@@@E;
@'ﬂ =R (Adobe Premiere)
(2) U THIAS (Adobe Acrobat)
(3) UH TwH grataize (MS PowerPoint)
J4- T T" TFEA (MS Excel)

Which of the following software is'generally Prefé*!‘!l'ed most to create a tabular sheet to store marks
scored by 100 students of a boarding house in the last few examinations for some basic statistical

and graphical analysis ?
(1) Adobe Premiere
" (2) Adobe Acrobat
(3) MS PowerPoint
(4) MS Excel

3, %ﬁtsﬁaww@éﬁmml' 'lé@"ﬁﬁ T4 & 9

I

15332

S0 pdf - (2)  doc EH Hway 4) jpg

Whlch of the following is one of the standard ﬁle {;;*ensxons of an image file ?

() .pdf (2) .doc Y-L{ ey (4) jp8
e '

—
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HWA-2023/C5 ‘ ot
oo o 1 O KR T |
o i3 go AL m a's‘ (MS Word)
(1) TH T TR (MS Access) il
3) e (MS Windows) (4) T TH TR xce
E r cxample of an Operating System.: ?

36.

317.

38,

V\fhich of the following is 8 P(’P‘ﬂa
{1) MS Access
(3) MS Windows

(2) MS Word
(4) MS Excel

Frege ) W 3, ROM 1 T 7 € ¢

(1) Random Optional Memory, « . $
(2) Read Oriented Memory Lai) g
(3) Random Object Memory ((‘2
(4) Read Only Memory i w
In computer termmology ROM stands for E

(1) Random Optional Memory

(2) Read Onented Memory %
(3) Random Object Memory.
(4) Read Only Memory

mwm(malﬁé)‘%ﬁﬁwaﬁimm%mﬁmm
Wmﬁtﬁ%%ﬂ%mq{mmﬁqﬁﬁaﬁamﬁméaﬁtm T O

i\ qgéq:: (A:ware) 54 : Lﬂ(2) aq:[ (ijan)
(3) VT (Spyware) e @ (Spam)
This is a type of malwa il '

useful app, but usually t?k:mi ?ownload onto our smartphones, disguised as a legitimate &
other harmful aetion on ogd Josk se:uof our smartphones to damage, steal or in general inflict s
(1) Adware ity

(3) Spyware e Y (2) ' Trojan
' R 5 rA4  Spam
e 3.8 @ i
f),r Tl (Plotter) %IEE{% T ®?
| (3) Tl (Scanner) (N(2) HEH (Mike)
i Whlch of the I‘ollowmg is "°tanh Vel ,' +i(4) E‘F.{E ﬁ:{ (Light‘P.en)
(1) Plotter put, devlce ?:ﬂ Vi

3) Scanner e
g : Y. (2) Mike

(4) Light Pen

{
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: (19) ﬂaﬂ 73? % ?
EM Wﬁammﬁmaﬁmﬁwﬁtw
@ 1§ _(Yahoo) m,(z) @ﬂ AccEB
@) T (Google) N 4y fm (Bing) | .
. ‘ o ) R i ea,ch engine 7.
Which of the following is not an example of 11 H)plﬂar web-bas®
(1) Yahoo 1 (2)  Access
(3 Google & Bing
. FAEd §, DVD HT 9T M 2 |
(1) Digital Voice Disc (@) Digital Versatile Dlsck
(3) Dual Versatile Disc (4) Dual video I?iéc
In computers, DVD stands for : e I ‘
(1) Digital Voice Disc ™ (2) - Digital Versatile PiSC
(3) Dual Versatile Disc : . § (4) Duall VideO DiSC
. e i e e e e R 8 e e
mﬁﬁwaammﬁmﬁwﬁﬁ e &gkl
TH qratise (MS PowerPoint) H
(2) TH TE TR (MS Excel) | | T
Q?:IH @aﬁ (Adobe Acrobat). 7 ‘ '1 B
(4) TH TH TFH (MS Access) ' Y
Which of the following s‘oftware'is generally preferred most, to create an animated multimedia
presentation on the topic ‘Health and Hygiene in a Boarding House’ ? -
(1) MS PowerPoint 9 ik
(2) MS Excel \0
" (3) Adobe Acrobat - ?\]
(4) MS Access m |
. N _
. g8 3fi dree o s SN (4, e, it (T, 1) 35 v, e 5
; ’@mﬁﬂémﬁ;ﬁﬁﬂ‘%ﬂ@ﬂ W“ﬁfﬁ*mﬁmﬁaﬁ?’
(1) T wead (MS Access) & W qqa-g (MS Word)
(3) uEr HifieR (Adobe Premiere) @ %R rayyy

Which of the following software is generally preferred most, to

w al
of the school, with some pasic text and paragraph format,tmg b l'lte a House Report to the Princip

old, ltallcs derline; etc.) ?
(1) MS Access (2 Ms Word s

(8) % Adobe Premiere " 4)  Tally
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43.

44,

k. B Is|
45. T S S0 F LT HEE B A (share) HA

46.

1T S L)
(@) Tafvm TEnfel g g )

Wmﬁmﬁm@ﬂj?

(2) T IATICGE IR

(1) - s giehe gl & e FAGE ST
3) U= Azt STt : A %i}

i tem ! : i
What is a Router in a computer b gﬂ An output device
(1) A calculating device

{4) An input device
(3) A networking device roh

. Pl
ﬁm%&aaﬁﬁaﬁqaﬁ@éaéﬂﬂaﬁ@mmaﬂﬁm 777 & gl & 2
O A
(1 mmm@)aﬁﬁﬁﬁﬁ@

L2 o _ (arswRy aeh 9 I S A

3) ¥ @ (e T AR T -

(4) I . (S e e AR |
Which of i:he following cannot be a v aliq Email ID ?
(1) An Email ID having multiple numbers (digits)
(2) An Email ID having multiple _ (underscore)?
(3) An Email ID having multiple @ (at-the-rateign)
(4) An Email ID having multiple . (dots) -

%ﬂw(éwitch)@?w%ﬁa%mﬁ
U TR A9 H S F e 3 e e Freea 3 3 R s e

_feen S B 2

(1) T U (LAN) (2) W YT (MAN)
@) N TE (PAN) g (4) T YT (WAN)
Which of the following networkg 1s

‘generally formed in a computer lab, where multiple comput
are connected through a switch anq

wired cable to share some hardware resources like a printer’
(1) LAN whE @
o AR (ﬁ WAN
i ﬁjﬂ“*\wﬁ“ (Clou(i Copcguting) T Ueh A9 7gT % ?
(1) FE A AR

————

. RW%@W
1 | & 0 ?‘_‘
(1) A TR g T R,

ich of the following j i T 3
Which of t 'e ollowing ig not ap advgnt | i
(1) Real-m}lﬁ.acceﬂsibilitg‘%m:,-x . -age of Cloud Computing ?

(2) Improved collaborat;gy, b d_m’)fwhéggﬂd everywhere

(3) Does not depend on Iterne, 0t contributors
(4) Backup and restorg data § & network) connectivity
e
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47. el E“':EELETWﬁ,qa{ngEWg::

(1 rtificial Intelligence
(2) Absolute Intelligence
(3) Augmented Intelligence
(4) Abstract Intelligence

963

:
In modern day computer terminology, Al popijlarly stands for :
(1) Artificial Intelligence | '

i

(2) Absolute Intelligence H:
(3) Augmented Intelligence
(4) Abstract Intelligence

g5, Trfafed & & wRan afufem wma gﬁg o govemance) a; ﬁﬂ @ltﬁﬁ faferss_afen 3y
G % ?
(1) 9NdE €8 €fgdr (Indian Penal Code)
(2) Taqg Ittt (Governance Act)

_A3) g & (wwee) siffEm, 2008 AT (é&‘ ndment) AR, 2008)
4) s & fafrm, 2000 AT Act, 2000) N
Which of the following Acts provides initial 1€ g%al framework for e- Governance in India ?
(1) Indian Penal Code -
(2) Governance Act W

(3) IT (Amendment) Act, 2008
(4) IT Act, 2000

i
+~

19, Trafafgd 3 4 HH-81 Th GHaPE (mtlvxms)mmwﬁwm T 22
(1) "SRG (McAfee) (2) T (Norton)
(3) HEREHTS (Kaspersky) . @ R (Tanty)
Which of the following is not a popular example of an antivirus software brand ?
(1) McAfee , D (2) Norton
(3) Kaspersky N (4)  Tally

50, ot e (wed PR H TEAE W T mﬂw\mwmmﬁwﬁm”
HEATE 7

(1) GB<MB <KB *J” I‘:B<M13<(;,B

(3) GB<KB<MB . @ MB<Rp.gg

Which of the following is the correct ascending order of memory torage capacity
(smallest comes first) ? it as per; tho, 8

() GB<MB<KB ' oy KB<1"IB<GB

3) GB<KB<MB - (4) MB<I{B<GB
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9T IV/Part IV
POCSO deT ar-a aii ! GL&T § Hafira Wi alei srfyfas &1 A

Knowledge of POCSO and other children safety related Acts of Government of India

51. TrmafeRan weml wo famm i A

(A) T o (v sk faf) st &smﬁwmﬁﬁm%ﬁ?ﬁmaﬁm

TR |
B) W%mmﬁmﬁ%ﬁﬁwwm%%ﬁm%l

A9 R e g § @ v swow ww A 0

A (A) 3R (B) T = E 9 (A) T B, AfFT (B)HET @
(3) TM (AT R IAR B @ (A)TFR 2, AR (B) T &

Consider the following statements :

(A) The Child Labour (Prohibition and Regulatlon) Act 1986 prohibits the engagement of childre:
only in certain employments.

(B) An occupation connected with automobile workshop and garages is prohibited for childre:

under the Act.
Choose the correct answer from the codes given below : .
(1) Both (A) and (B) are cprrect ; (A) is wrong, but (B) is correct
(3) Neither (A) nor (B) is correct l(g) (A) is correct, but (B) is wrong

52. éﬁmw&ﬁﬁwﬁmmmmocsmﬁwrﬁ‘&ﬁ 2020 % 3Favia ‘o9 e o 8 2

o)) Wmémwﬁwﬁﬁﬁaﬁéﬁrﬁﬁ :
(2 M(POCSO)WW%WW@QWWﬁ%,W
(3) wwaﬁﬁmﬁzﬁsmﬁﬁ e '

, @ i fre wadt s vl

Under The Protection of Children from Sexual Offences (POCSO) Rules, 2020, who is a ‘specia
educator’ ? :

(1) A person trained in communication with children with disabilities

(2) The liaison officer in the special court for trials under the POCSO Act
(3) The person assigned by the Child Welfare Committee

(4) A special trainee on sex education

53. e _STIUL A= 1 GEW (POCSO) uﬁ% 2012 % FE9 § 7o7d HYd hl Y= AR |

(1) e i § S sy v e @ o i T8 2 |
(2) G TfulEH S AT gy e MR

(3) e st G e e g 3

(4) I (POCSO) Nfﬂﬁqq%nmq-@-g b

Identify the incorrect statement
(POCSO) Act, 2012,

(1) The definition of sexual offence in PO
(2) POCSO Act provides every child, th
(3) POCSO Act is a special layw,

(4) POCSO Act is not gender Neutra],

with regard tot- “The Protection of Children from Sexual Offences

CSO Act is not limited to penetrative sexual assault.
e right to be heard. )
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55.

56.

@ FEE@®),® MO

HWA-2023
. : /C

frferfa el feere o W ’
(A) ?A(Hﬁﬁm) sifufvm, 20133 Wl de 54 ﬁﬁﬁﬁ (Vg
B T A g sy ) AR o < TR A 7

RS : : YUY Y : g for dlied ] SNETId T 7T

g T A S | w8 el e B0 Sy
D (A I (B) I T 3 ' (2;’8 (A)ﬂ?ﬁ%’aﬁm (B) TE &
@ Ad A TE R R TR (1) M@(A)ﬁ ,aﬁr-l(B)W%
Consider the following statements : (v}
(A) The Criminal Law (Amendment) Act, 2013 maga-) ame'ndments to the Indian Penal Code.

(B) It' a{nend.ed the offence of ‘Trafficking of Perso"ﬂo mean that trqf’ﬁcking Wb e et ifithe
victim will not be considered an offence. I il

Choose the correct answer from th i

e codes given below : ; .
(1) Both (A) and (B) are correct 4 ((:2)0 (A) is wrong put (B) is correct
(3) Neither (A), nor (B) is correct @) (A)s correct; but (B) is wrong

et SAfireeTL Een S s, 20@ﬁ1=r|%1ﬁaaﬁémwﬁm%?
(A) TSR AT AT S ST ‘ :
(B) TST ST AT G AR foig :

(C) BT ATl SATIERR a0 A {8

(D) T e th

49 fog o e # & T IO HT o BT ; ») Gl

1) FEE (@A), (B) AT (C) @ amEa WM ®
() Fad (A) AT (O)

The Commissions for Protection of Child Rights A::l{': 2005 provides for the constitution of which of

the following ?

(A) National Commis
(B) State Commission
(C) District Commissio
(D) Children’s Courts
Choose the correct answer fr
(1) (A), (B)and (C) only-

(3) (A), (B)and (D) only

3 on :
mﬁ%mﬂ@w(ﬁmww < JzOOﬁ__@ﬁﬂT%{ﬁﬂﬁWﬂaﬁ
?

sion for Protection of Child Rights
for Protection of Child Rights
n for Protection of Child Rights

om the codes given below :
(2) _ (A)and (B) only

({0 (4) and (C) only

™M
47 guy faen AfEH N frem e
3) dra sfea faed (4)y, T T 3 Tt
The National Charter for Children, 2003 was announced in accordance with the pledge in which i
the following ? '
iksha Abhiyan (2)  Sustai
(1) Samagra Shiksha y | o ustainable Development Goals

(3) Teach India Mission National Agenda of Governance
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8
HWA-2023/C5 5 3 AT 1 2020 & v # 7y @ Fefafa E‘iﬁ_ﬁmw
(87) v 3 s s, o2 =P " T =
T wafis o 2 \D () e Teg T
1) 58 Y TG A ) @ Ry R

59.

(3) SRy e 7o &

The mortality rate in India in 937 A
Economic Survey of India, 2022~ { (2) Neceonatal Mortality Rate
(1) Mortality Rate under 0 Years W,

(3) Early Neonatal Mortality Rate t ) Infant Mortality Rate

020 was theggghost for which of the following indicators, 5 Per ¢

) F ATEAR WRd H, s b @d fo 9T 9

TS SRR e ﬁm@l&%&' (—3;3940 @ 927

(1) 935 2 9 RIS

According to the Nationa Family Health Survey (2019 — 21) in India, what was the gex rati

birth ? ‘ L TR . '

1) 935 @ 931 (3) 940 5 (4) .927 .

ﬁzmﬁmmmﬂmm, 2009 % wag # Fefefad # & SFm w4

272 , ™M

A4) ‘EWN@*@TWW% :@msﬁ&ﬁﬂﬁﬁ@ﬂ%%@%
«B) wufian § i e & F41 1 W FE ewﬁﬁm%mﬁw&mﬁa%mw% |
O T s ¥ siota 63 14 78 % St B wifiret for e R

H2 fg e g2 § v IW A T AN :ﬂ

(1) FaE@WIRB) @ FEAIE (@) FAAO) 4) G (A)

Which of the following statements is correct r‘eﬁrding The Right of Children to Free ar

Compulsory Education Act, 2009 ?

(A) The law provides for free and compulsory education for elementary and secondary stage.

(B) Elementary education is defined in the Act as education for class 1 to class 6.

(C) The age group covered by this Act is between 6 to 14 years.

Choose the correct answer from the codes given below :

(1) (A) and (B) only (2) (A)and (C) only (3) (C)only (4) (A)only

wm’@ﬂﬁ%mqﬁﬁwwﬁwmﬁmmﬁmm
. g ALl SLESAL R 7 et | 1y : i

ferddt oft amiforen .

g 9 T s g B 39 GRa b w A REE A 9 T 8

(2 o & forelt o0t S vy

P g ANfaare & wHY W oA
(3) 39 & % am g g N
T el {ie foreme wea e |
(4) Fad amnﬁmmﬁmﬁ "
. T e uarER 2
By whom can a petition fop Anny; e dar T
Prohibition of Child Marriage Actu ling a child marriage be filed in the District Court un

(1) By any socially congeigye ;. .. .
1_“‘11\'idual who has information about a contract being 2

marriage !
(2) By either of the contrae;, | el
(3) By the Station House Office, arty to the marriage, who was a child at the time of marrlagmniz
(4) Only by the minor womg, HO) of the jurisdiction where the child marriage was sole

T N0ls g Contracting party to the marriage

chil

e
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0
et (25)
M V/Part V |
ST S/ Administeative Aptitud®

o1, TP T A S Pomfiafi 6 @ w3

(v F-RE R TR e ?

@) HEAR A E e e

(3) ﬁn&n H FrEr 27 .

Which one of the following is the main objecti ?

(1) To give relief to parents ' Bt st

(2) To take care of weaker sections g

(3) To promote education o '. ‘

(4) To provide students a peaceful and congeniglﬂenvironment to PRIPEC Rt
ol _mg_mﬁ%éﬁymmm%?' E .

(1) SaTE wHaemr g Hh
) W%mammmmmﬁﬁﬂmm
(3)  IATE e wE g i o5
) WW&(W)WW%E a BN ‘.
How can one improve Hostel Administration rd i A

(i) By effective supervision

(2) By regular feedback from Hostel students bﬁi involving them in décision-making

(3) By discipline committees 4
(4) By providing adequate funds ™M
™M
N .
63. mewﬁ? g ol ,
1 Waﬁtwmb 49)  TE TIHR I AT WIHAT & -
@) T wd (4) ¥ BT B AR odl 8

~ What is the advantage of Hostel life ? ‘
(1) Socialisation and mdependent behaviour (2)  Itis Government policy matter

(3) Lack of privacy ' (4) It provides freedom to students
mﬁ«mmmﬁaﬂmﬁgtmmmaﬁﬂrﬁm? |
1) Tie g T

(2 q%wam‘qﬁsaaw%mamaw;m%

@ el i Frafia FEERE 0
(4) oFgeTEA wiafd !
What safety measures aré to be adopted in a Ginlg’ Hostel ?
(1) Closure of gates
(2) Provision of Lad

. (3) " Regular counselli
(4) Discipline Committee

y Warden along with strict vigilance
ing for girl students
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Eﬁl’
(D W@WW 53(1"”5”: )

' What is the main obJectlve of Hoste

@) e g s RE 9

(8) WRATEYS Wi Brgwt Wi I |
- mﬁm%mmm@iﬁ%%@‘ﬁ?ﬁmamé

In case of short-circuit in a Hostel in emergency conditions, the Warden :
from higher authority

(1) Has to wait for approval
(2) Can only call an empanelled electrician

(3) Will abscond from the scene ' oy
(4) Can even call a private electrician to rectify the problem on priority

ST BETTTE Far a1 g e ?

1) wwgmﬁwa&mmﬁgﬁmaﬂtmﬁm@nﬁ

(2) =1 B & |

‘ oy
(3) =01 IY-TER & e
4) faftm svd aed @ SJ) (C.}":;

. What should the modern Hostel room be like{?’)

(1) Should be equipped with LAN facility andglnternet along with hygiene
(2) Good furniture _ .

(3) Good ventilation F :ﬂ"

(4) Regular cleaning i

wmg@m&'ﬂl%?
(1)

‘9 mﬁmaﬂxmw m
gafsa g

(4) ﬁﬂﬁm(ﬁﬂmwﬁqa%m

1 -~
Mess ? ) X
(1) Cleanliness

(2) To provide hygienic and bala ) ~N
(3) Well furnished need diet toﬁ’.he students

(4) To utilise mess funds Pmperl Ft

ﬁaﬂﬂ:@wm hmmmm"%ﬁﬁa@[@wmml
(3) '

(2). ¥ afify frm gEE

Name the ‘document’ normaly - J4)  OEE™ frm 3‘@?5[
(1) Mess Guide *ed for g“idiag overall cleanliness in the Hostel. ‘
(3) Sanitary Guide , &v(©®  Mess Committee Rule Book

™l (4) Hostel Rule Book

o™

o)

Yy
o
H
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;‘\_ﬁm%ﬁaaﬁia e B (27)
69, e ‘qu - Wiy AT T Ii&l}m s M g7
(WY TR T Rt
(3)_ TETEER g, (@ ot 56 89
\ 4y M

Which one of the f{ o =4
1e follow MEIs a part of Hostel room invonlory?

(1) Wi-Fi control
: (2) Celling b
(3) Library books &) ccrv camer?

. SEEH H A wff w wm g

(1) B qHEE
@ Fafa 9% gt wa
(3) OTHEE H FIWE S @1

ymaﬁtwmm

The role of Mess Committee in the Hostel is :

#%53329_63

(1) overall supervision
(2) to conduct regular meetings
(3) to maintain discipline in Hostel

(4) to provide hygienic and cost-effective diet

(1) HrEwTn afEtd DO (5) o 71T
3) oFemaA afd (N@

Who is incharge of general upkeep and sanitag}n of Hostels ?
(1) Executive Committee ;:' (2) Hostel Warden
(3) Discipline Committee (4) Mess Committee

. W(Gm)mm%:
() ot S @ wE W0 ¥
V) i Frmaeh @ "
(3) ST § ATE-aEE §

(4) e 7 AT FTE

General Financial Rules (GFR) deals with :
ed de

(1) Procurement of items from approv
(2) Mess rules

(3) Sanitation in the Hostel
mmes in

#153352963

the Hostel
(4) Cultural progra 3
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(28)
HWA-2023/C5 ?
R ST 1 AT A q]ﬁg, @ o
(1) e ik e A "B Hmﬁw@%w@ﬁm
(3) HIA FEI
Girls’ Hostel ? N
Who should be the Warden for GIF = (2) Female only )
(1) Both male and female &) Atthe discretion of qg'mpetent authority
(3) Male only :ﬂ:
74) BEEE | FEHE-gE » g o YL T @ 7
, (2) G S [ ET GRIE]
B R T e deE sTavdT
@3) W R s A B AT @ ~
’s ?
What is the purpose of Wm in the Hostel ! )
(1) Administrative purpose (2) Budget prep aragn
(3) To prevent loss and theft (4) Audit requirement
75. ©EE™E d f=fafea ¥ | M@@W ? Q
(1) AR el & @l FE (2 St T AR maﬂmg}
(3) rifed e & wlegd F (4w wheerd ?g
Which one of the following ﬁﬁrchz;ses should be avoided in a Hostel ? N
(1) Purchase from approved dealers “ (2) GFR provisions g
(3) Purchase from approved budget (4) P1ecemea1 purchases
76. STETE I YHH S EALE ? ,
- SEEE aﬁrzﬁ/qﬂ%m @ FeuR
(3) g i (@) dEA
Who is incharge of a Hostel ? ' '
(1) Hostel Supervisor (2)  Vice-Chancellor
(3) Mess Secretary 4  Warden :

77. orEmE se # ekt § 3 2 gt sawas 2 0
ST 5101 $ertet i Wees s sversy e

T

&

(2) ST=R TV A1 i o
(3) e il H - B ey

#15332963

) DT A T YETST ) ey T T,

Which one of the following is the p, essenti
(1) The administration shoulq py, .. anon
(2) Good quality food

(3) Providing Wi-Fi in every 1,

4) Proyiding good library j, e s

al in the Hostel life ?
-threatening and conducive environment
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78. OM 'i@'ﬁlmj aE ) Hmaﬁm R FmamEmd 7
(1) IR faRwsl gro frafa sEgfén sE B
l .
(2) Ie DHEE A IR PHTera

3 I I I 0
(4) S IURH F weAw g

How can one address teenage problems in Hmels ?
(1) Regular counselling by professional expéfts
(2) By expelling them from the Hostel 3;

(3) Give full freedom ;

(4) Through strict discipline

SrEETE! 3 b e o R awd

(1) JEIhIeR JEihi (2. & SEd
(3) GUE W@ | @) wddem & wH

What could be a common problem in Hostels
(1) Lack of library books

(3) Poor maintenance

2) Boring life

~ o~

80. m@ﬁwmﬁ%‘?

. #15332963°

(1) SEEE H& e (2) gafea JsEd

(@ foere 7 o (4) TG AR
Hostel management does not include : |
(1) Hostel room allotment (2) Furnished bedroom

(3) School admissions | (4) Mess af}lotment.

81 oTTETE g f i ST B 1 T foRd 9 2
) HE TR 2

gl B

o)

Who is authorised to receive stock in Hostel @ss ?

(1) Mess Manager , m (2)  Student incharge

Ln @ Principal

(3) dared | ™M @) wuEEE

(3) - Warden

82. DM yauH § Befafad A
(1) &d & 9@l
(3) YA Ug
Which one of the following is a ‘consumable’ item in Hostel management ?
(1) Ceiling fan (2)  Cooking gag

(3) Notice Board (4) | Furniture

4) Lackof supervision

GET IT ON
Google Play [

HWA-2023/05
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(30
::3““\-2023/()5 @@m :En%q , )
EREICIE R m a: @ ST
\_MH'IHTH
@ o/ # sr:nﬁr@'
(8)  haw wigll I
(4) wTeh ugha

What should be the criteria 1%
tel admission guxdelmeﬁ

for Hostel admlssmm

(1) As per approved HoS

(2) By date of birth of stude™® Q

(3) Only outstation students U'-}
: ¥

(4) By lottery system 4

1 Hmmwﬁwﬁ@ﬁmm .
@) Fas - F g |
(3) WM N FAE FA
o> T /STl T ﬁaﬁ SO 7 e e
In case the Hosteler is seriously ill, the duty of thrg Warden is :
(1) To wait for permission from the competent gthonty

(2) Informing his/her parents g
(8) To ignore the issue m
(4) To shift the Hosteler 1mmed1ately to the neasest Hospital
g WET
. ST mﬁ_ﬁmﬁgﬂﬂw ?
(1) it A _ 2 49 T
3): g i @ ST oI
What type of stock registers are normally mamtamed in the Hostels ?
(1) Asset Register ( 9) Tree Register f
W(S) N g)/ Consumable and non-consumable
el ﬁ'Fl afafa : : i

(3) aTE FQ) e

L) B Adl

i

Who fixes the food meny ;
In the Host 1?

(1) Mess Committee H

| (2) Mess Secretary

(3) Warden
(4) Student leader
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87.

88.

(31)
orrEd § fafafa § 4 e wg Qeanisy’ § o

m ¥ e

e 1 3 @ fa
Which one of the following is a ‘non-consumable’ item in the Hostel ?
(1 0il (2) Refrigerator

(3) Wheat flour (4) Gas

Wﬁm%ﬁﬂ@ﬁa‘ﬁm&mmﬁﬁﬁwmmﬁ?
(1) SEEE w4l % =-faes w

(2) mﬁa%mmmq@j@_m@

(3) b O fady Hoft & oril w1 asifed

\))fﬂﬁz%mmmrﬁmmﬁﬁw

How can one handle large number of stﬁ}ients in Hostel adrmsswﬂs ?

(1) Hostel Commlttee, at its dlscretloa

(2) By charging excess Hostel fees m

(3) By allotting only a particular cat@ry of students
(4) By restricting the number of studénts based on merit

89. MWMWWWWW%V

90.

(1) _Fra-fan 3 any e e s

(2) T HAE H

(3) 3R fadsi gr frafia EEler HEh
(4) T IFTAEA AR Fh

How can one handle indiscipline amon

ostel students ?

2;;-)63

(1) Regular interaction with parents

533

(2) Effective supervision
(3) Regular counselling by professiona]i xperts

(4) Enforcement of strict discipline

1

YEEE | -6 mﬁaﬁﬁzﬁﬁvﬂmaag__w?
(1) wuEEE (2) W BT
(3) TEMESH daTEd (4) g afufy
_
Who monitors the attendance of huusok&.pmg staff in the Hostel ?
\D
(1) Principal (o)) (2)  Student incharge
(3) Assistant Warden 5 g (4) - Mess Committee
m .
LN
A
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91-

92,

93.

94.

95.

97.

(32)

Part VI
age Competency Test (General English)
angy . .

ning to the given word.
Choose the word nearest i me? :
Intercede : ' " Infiltrate ’
, otiate 3 In (4)
(1) Reconcile (2) 1% Intemene
.+ meaning to the given word. ‘
I(;ll().ose thewte_’f,/” i
ng ] . . ‘
Ident1f‘y the correct it form of the T;"nse = : a Vin 'Sentence.
the office yeste ‘ S
(\Y)hvg;d?;y Of z‘;‘ztnl;e in ‘ (2) Past Continuous Tense
S eriec .- . )
4) Simple Past Tens
(3) Past Perfect Continuous Tense m y l(.’)’ g °
Fill in the blank with the correct prepositifp,
The group of actors drove__— the foresgt high speed. :
(1) throug—h—_—ﬂ (2) in 3) over 4) at
Choose the correct meaning of the underhned idiom. "
The speaker broke down in the middle of his speech.
(1) looked at the audience *(2)  failed to speak
(3) broke the mike 4 stopped midway
Change the given sentence from Active Vaige to Passive Voice. -
The batsman hit theball forasix. O
(1) The ball was hit for a six by the batsran.
(2) The ball had been hit for a six by the hatsman., )
..~ (3) For a six the ball was hit by the batsfifan. . g

(4> The ball was being hit for a six by thé"ﬂitsman
In the following sentence, identify the parﬂlwhlch .contains an error.
T}Effjfaref / enquired from me / where / 1 lived

. b ¢ Td—

(1) ¢ () b 3 d P arn nL(4) 8

98.

99..

100. Rearrange the partsip e

Choose the correct ./.Xx:ticle. NG
honest politician is g rarity these days.

(1 A @ An 0" ® Any @ The

Choose the correct form of the verb to go v@th the subject.
_On the. 1clir:ly of the departure every one of tirp boat’s crew. down with fever.
\}‘)/Wl be (2) was LN (3) has been | (4) were

¢t order to maké a meaningful sentence.

——

A. tothe nearb]?'j{ﬁ,g]e
B. ' Isaw a young Shepher q
C. in the early dawy
D. herding the catt]q
(1) D,C,B,A

(2) A, B, C,D: 3 C,B,D, A
; IS
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v wgren it (e )
: ™ #faro
FERICTTOr TerTe) W‘”’WWWWMWWUM ~103) as 7 I

P 3 s it i 5 gyt 30 o), s s ST

Rt IR 3 S < o e e o e ¢ g 6 G0 S0 (T, O A s
ﬁﬁﬁ@ﬁnﬁﬁm%‘_ﬁ:ﬁ% |Humﬁ%quﬁﬂ3ﬂ“mm'ma qu@m

-,____-——- —_—
mm%ﬂ%ﬁmW!
101. < H O ST § -

(1) Faa T3 ™M

(2) oo fra g

_® WISH, 961 3R a1amg. 9{

4) FEoE RS in
ioz.mmmhmm@wg?;: s

(1) ToRT g0 e e @ WA

103. AT N TG ht e e fo § -

(1) had The 3 @) mmmﬁ
&W,Waﬂtmé (4) et Ty

104, Frerfofed # & w1 gm s 2 2
(1) T A qwE
(2) WHYW - g TUE
(3) AW — T U™
(4) e Ul - FHURE qE™

#15332968

105. fyeifafiga # & o wfu aren w2 78 3
(1) 9rftw
2) foma
(3) 3794
4) AT
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4) SCUCE

(4) ¥ -3F

110, Frefafad § 8 & 9 @ 777 @

(1 W
(2) Wil
(3) WAl
(4) af @~

(48]
&
[
g
{X)
(g
e
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T VIIPm't V1 H al Langua re)
Bc[rlont Lv
l EI &[ 4| (&“5"!! “”:") ILﬂllglll\gL C()l'rll)l. tency - (

m /_ - N
: Tl | AU Uy
3“3““""\‘10’5“\""’(El?tl!‘é'@m1111‘1120)‘;1%a}—,ﬁq‘m-anzﬁ‘m“rH 4

ft oY, Mﬁﬁﬁwnﬁﬁpmwmm %ﬁ_ﬁﬁqmﬁm (%@ BE&m 111
R 120 ) & 33 iy |t s ek s e 1 S T 190 v

WWWWﬁmmwh%,ﬁﬁmmﬁ (OMR Sheet)mmqﬁ
feram T |

Vod
The booklet has 10 questions (from serial g% 111 to 120) of Language Competency of

each Regional Language, however, candia\ela}tes should attempt the questions (from

serial no. 111 to 120) of Regional Lang‘uag@%which is mentioned on their admit card.

ol g
No change of Regional Language is allowﬁd during examination. The answer sheet

(OMR Sheet) of the candidate will not be evaluated, if the candidate has attempted

questions of any other Regional Language.

#15332963
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Part v
Langunge Compctency Test (Hindi)

'Wwaﬂ%wwwanmmﬁ(m_m)&ﬁﬁﬁ -
| M.W%maﬁﬁmwﬁﬁ% raft
bl

ﬁqﬁaﬁ?mﬁrmﬁaﬁ(mmﬁ HI W/)ﬂf :
£ fEfd 3 T % 2 fomre u
@ﬁ@w%mﬂla?ﬂm %W

. O
lll_ﬂgazmumw_ﬁﬁwam%m
) poudihi m (2) e wrfer & HT
Mﬁa‘aﬁ%m L0 (4) s s
19, AT SHEELH T o1 ey *
yqﬁ%ﬁ:ﬂwmm (2) wifes wq @ 8@ A
(8)1; 1A (4) <= =g o
113 @Tﬁmﬁ
D T Fm (2) FHT 1 frehE B
(3) e U A e @ Wﬁ@ﬂ-@m
114, Frefafed § =g & wimerh w g W0
(1) wah (2) digy a (3) g L@ =
sl R A g A g ) . )
o S i ey Y e i o gl g 1
(3) FeleETTI E 3w wE Al wm W (@ gt Grerch))  fireren 2 |
Frferfiaa § oF YIa1 o 10 T A gfFC H SR R |
116.@ Wmﬁ-w (2) v & N WA ATl -

JON mﬁﬁﬁ@wwﬁm@imﬁ;ﬁw (4) S F TG A B - A _ -
117.ﬁm1%1ﬁ§aﬁ‘m’wwazﬁaﬁﬁaﬁmﬁ%:

4) I
(1) W 2 T m @ ¥ 5,
0
< 7S & _
s, frefein f w1 R A FEIRE O L W Wi
(1) g @) IHw A '

’ Eecl W%!
11y, ‘amﬁgym_ﬂafwamﬁ Efmﬁ it
) fpan-fer @

120.%11%341%111«3@1631@5’:;:_% 3 W - (@) e - sl
) -@_#@ (2) L, e
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Part VI ) E
Language Competency Test (Khasi)
m ?
111 Jied ta ka kyntjen kaba Yjan ha ka jingmut bad 1&0kyntien ‘Lehrol’.
g u SEEE ¢ Jaituh (4) Saro

(1) Mutlop (@ Lehkjeh (?3"1 | n8
112, Jieq ia ka kyntien harum kaba iajan ha kajingm\m)ad ka kyntien ‘Saja’.

(1) Pynshitom @) Jynjar (3%': Sngewsih (4) Bamja
113. Kano na kine ki kyntien harum kaba iapyrshah ha ka jingmut bad ka kyntien ‘Kynjai’ ?

(1) Bitar ' ‘ (2) Sngewmeng

(3) Ehrang : . (4) Satar
114. Kano na kine ki kyntien harum kaba don ia ka jingspel dak kaba bakla ?

(1) Pynloit . (@ Wallam (3)  iing syiem (4)  Khunlung
115. Kano na kine ki kyntien harum kaba don ia ka ji@spel dak kaba bakla ?

(1) biej @) ieid % sdie (4)  thylliej
116. Kano na kine ki kyntien harum kaba fapyrshah aka jingmut bad ka kyntien ‘Atlukhi’ ?

(1) Sbun (2) Jemnud @ Daini (4) Tipsngi
117. “Ki khynnah ki jasum ha wah”. H

Ka kyntien “asum’ ka dei ka jait verb aiu ?

(1) Reciprocal verb (2) Intransitive verb

(3) Causative verb . (4) Transitive verb

118.

119.

120.

“U briew ba shong hapdeng surok u iam pangnud ia la ka khun.”

Kdew ia ka adverb ha katei ka senten.

(1) pangnud (2) hapdeng @ khun : (4) shong
“Sah noh hangne bad ngi”, ?\}

. )} 3 . m i
Ka kyntien ‘hangne’ ha katei ka senten ka dei ka(it adverb aiu ?
(1) Adverb of Place Adverb of Time

(3) Adverb of Degree @k  Adverb of Manner

Pynbeit ia kane ka senten harym ha ka rukom kaba dei :
A. ba phin joh

B. jingmut bha
K. ‘pynleit
D. shong ha kyndong

() KBAD .(2) KDAB (3) DAKB (4)  ABKD
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